BEOHIE
712 #

(847 : %)
2 £ LR 23FE L2245 E i
MEBEERS N @ =X 013 063 050
g8 A B 8 M @ X 181 852 6.71
MEESBAUA @R 010 0.39 0.29
== N T T ] 5 S 134 533 399
CE) 1. HMEEZRBNRER=F8IR HMEE (BBRIIBRER) EiFKESX 100
2. EARBANRER=F8NE MNEEMNTEEHEESX100
3. MEEIPNANEER=_—SIRIRE (KSR MEE (EHRIRRER) EiEESX100
4, EARLSUADE=—SBRERE FR51R)  MIESEREEEESX100
e £ 23 2 S
A7 GF - A IEFE
(8817 : %]
& £ TRR23FEE LKA FEE 1=
- A xR 392 359 A 33
5 H§ o i 15 402 375 A2T
P = x 20 23 03
HrEEE B o ¥ 19 17 19 02
CE) 1. iI7g=x (H R) —E5HEERS /ITEESX100
2. ’““*X (BihiEy) =80T HEES ./ IrETHEESX 100
3. iR (83 K) =BibEES%S frE€%SX100
4 ,\?EIEE%E (BAh19) :ﬁfﬂfﬁﬂ%ﬂ—ii’:ﬁi%/ EEIEIESX100
3 = WA =
BMEIAL - ) Di5i2
(87 . M)
18 =] LK 23FE (4058) L2245 E (403%)
- f7 & 53 = 151,852 151,906
= E B & B B 60,060 54,996
HiRs E B HBERBEBES 1,038,635 1,019,695
20 B B B # B 5 18,148 18,555
S R 5 8 KR & B 38617 34,774
CE) SBAXBROEMBESEEV\BERTIHELTNET,
-— s M A (= 4
LG ) DISEE
(87 . M)
18 =] Lk 23FE (15%/5) L2245 E (15%/5)
iT i 5 = 4,100,004 4,081,207
= H e =% = 1,621,633 1,477,547
£ -6 H p=i R B = 28,043,156 27,395,802
g 8 5o 1 8 = 489,999 498504

- 44 -






